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Note : Attempt any two questions from Section 

A, four questions from Section B and two 

questions from Section C.  

 Section—A 2×20=40 

1. Describe the important measures of central 

tendency by giving suitable examples. How 

do you choose one measure over another ? 
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2. What is a normal distribution ? Describe its 

characteristics. What are its major 

applications ?  

3. What is stratified random sampling ? What 

are its advantages and disadvantages ? How 

is it different from simple random  

sampling ?   

4. What are the methods of collecting primary 

data ? Explain. Design a questionnaire on 

family planning.  

 Section—B 4×12=48 

5. Explain the major steps involved in 

construction of a cost of living index number. 

6. You are provided with two samples with 

means 1x  and 2x . The sample sizes are 1n  

and 2n  respectively. Explain how you will 

test the hypothesis that both the samples 

are drawn from the same population. 

Assume that the population variance is not 

known. 
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7. Estimate the linear regression equation  

Y = a + bX from the following data : 

X Y 

1 2 

2 5 

3 3 

4 8 

5 7 

8. Explain the concept of standard deviation 

with the help of an example. What does a 

higher value of standard deviation imply ? 

9. Explain the time reversal test. Which index 

numbers satisfy it ? 

10. Distinguish between ‘estimate’ and 

‘estimator’. Describe the desired properties 

of an estimator. 

 Section—C 2×6=12 

11. Explain, with an example, the concept of 

histogram. 

12. Write a short note on the components of 

time series. 

13. Explain the concept of correlation. 

14. Distinguish between null hypothesis and 

alternate hypothesis.   
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 EEC–013 

Lukrd mikf/k dk;ZØe (ch- Mh- ih-) 

l=kar ijh{kk  

twu] 2025 

bZ-bZ-lh-&013 % izkjafHkd lkaf[;dh; izfof/k;k¡ vkSj 

losZ{k.k rduhsdsa 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % Hkkx ^d* ls nks iz'u] Hkkx ^[k* ls pkj iz'u rFkk Hkkx ^x* 

ls nks iz'uksa ds mÙkj fyf[k,A 

 Hkkxµd 2×20=40 

1- mi;qDr mnkgj.k nsrs gq, dsUæh; izo`fÙk ds egRoiw.kZ ekidksa 

dk o.kZu dhft,A vki vU; dh rqyuk esa fdlh ,d 

ekid dk p;u fdl vk/kkj ij djsaxs \  

2- izlkekU; caVu D;k gksrk gS \ blds vfHky{k.kksa dk o.kZu 

dhft,A blds eq[; vuqiz;ksx D;k gSa \  

3- LrjhÏr ;kn`fPNd izfrn'kZ p;u D;k gksrk gS \ blds ykHk 

vkSj gkfu;k¡ D;k gSa \ ;g lkekU; ;kn`fPNd izfrn'kZ p;u 

ls fdl izdkj fHkUu gksrk gS \  
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4- izkFkfed MsVk ladfyr djus dh D;k fof/k;k¡ gksrh gSa \ 

le>kb,A ifjokj fu;kstu ij ,d iz'u rkfydk dh jpuk 

dhft,A    

 Hkkxµ[k 4×12=48 

5- ,d fuokZg ykxr lwpdkaad dh jpuk ds eq[; pj.kksa dh 

O;k[;k dhft,A  

6- vkidks nks izfrn'kZ fn, x, gSa ftuds vkSlr eku Øe'k% 

1x  rFkk 2x  gSaA buds fy, iz;qDr izfrn'kZ vkdkj Øe'k% 

1n  vkSj 2n  FksA vki ;g ijh{k.k fdl izdkj djsaxs fd ;s 

nksuksa izfrn'kZ ,d gh lef"V ls izkIr fd, x, gSa \ ;g 

ekudj viuk mÙkj nhft, fd lef"V dk fopj.k vKkr 

gSA  

7- fuEukafdr tkudkjh ds vk/kkj ij jSf[kd izrhixeu 

lehdj.k Y = a + bX dk vkdyu dhft, %  

X Y 

1 2 

2 5 

3 3 

4 8 

5 7 
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8- ,d mnkgj.k }kjk ekud fopyu dh ladYiuk dks 

le>kb,A ekud fopyu ds mPprj eku dk D;k fufgrkFkZ 

gksrk gS \ 

9- dky O;qRØe ijh{k.k dh O;k[;k dhft,A bls dkSu&ls 

lwpdkaad larq"V djrs gSa \  

10- ,d ^vuqeku* ,oa ^vuqekud* eas Hksn Li"V dhft,A 

vuqekud esa okafNr vfHky{k.kksa dk o.kZu dhft,A  

 Hkkxµx 2”6=12 

11- ,d mnkgj.k }kjk vk;rfp= dh ladYiuk dh O;k[;k 

dhft,A 

12- ,d dky&Js.kh ds ?kVdksa ij laf{kIr fVIi.kh fyf[k,A 

13- lglaca/k dh ladYiuk dks le>kb,A 

14- ,d 'kwU;d ifjdYiuk rFkk oSdfYid ifjdYiuk esa Hksn 

Li"V dhft,A 

× × × × × 

 

 

 

 

 


